Trigonometric Functions

y =sinx

Domain: R

Yy =CosXx

¥
1 T V= COS X

Domain: R

'Range: [-1,1]
| Period: 27
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(0dd function: ;
i |
\sin(-0) = —sin @ |

-1<sinx<1 & |sinx| <1

. sinx=0 when x=0,+m, +2m, +3m, ...

-1
in(@ + 2m) = sin 9]

Range: [—1,1]
Period: 21
cos(@ + 2m) = cos @
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fiven function: “
cos(—0) = cos 0 g

—1<cosx<1 e |cosx| <1
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y=tanx

Domain:

v cobx

Domain:

- Range: R
(Period: 7
tan(6 + ) = tan 6

%IOdd function: i
\tan(-6) = ~tan 6|

R-{0,+m +2m,..}

Period: 7 ' —
cot(6 +m) =cot B

Odd function:
icot(-0) = —cot
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| y =cscx

Domain:
| R—{0,+m, +2m,...}

| Period: 21
lcsc(@ + 2m) = csc @

:E'Odd function: ,
;lcsc(«-o) =—csc 0 |

y=8secx
Domain
n 3n
R-{3.23. ]
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sec(6 + 2m) = sec 6
Even function:
sec(—0) = sec @

)

Y
|
H
|
i
J




